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1. wore e fAornepi ee fia - 1x8=8
Answer the following as directed :

(a) TFR G BN ALANS [EEIE 72 ?

Which of the following is not a subject
matter of macroeconomics?

() 79 T 1
Increase in the aggregate price level
(i) e <o Rem wad vifem 3

Increase in demand for a particular
commodity

(iii) 4T3 Tewwa
Aggregate production
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(iv) @bl SRSy P AR TI

Total employment rate of an
economy

(% Teach! MR Bfersan)

(Choose the correct answer)

(b) TGO HF 2AZ A IS Tareael ferd |

Write one example of stock and flow
variables each.

(c) IS %S GDP &F GNP Y&© <l AILF
IRI 2

The difference between GDP and GNP at
market price is due to

(i) I
export
(ii) ST
import
(iii) b qgat
net export
(iv) ROPE Y[ @9 2 ToMER S
NFIA
(ow Teach qfy Tferean)

(Choose the correct answer)
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(d) WA OGT yA ST T
The basic assumption of Keynesian
theory is

(i) o e

full employment

(i) 4o Fyfests ¥1

less than full employment

(i) 7 Fyfees @R

over employment

(iv) $*{F b1 T
None of the above

(= B0 qiiR Sfersa)

(Choose the correct answer)

(e) 3 MPC =0-8, (o @ffesa TW 27

If MPC =0- 8, then the value of multiplier
is : ;

(i) 4
(i) 3
(i) 5
(iv) 8°[93 9bI8 73y
None of the above

(wa TeICor AfR Sfersan)

(Choose the correct answer)
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(H SNE o= I (B)=C1T  3x
() + R @ (1) | ( 31 & fa= foray )

Aggregate demand = total spending (E)
= consumption spending (C) +
investment spending (I).

( Write True or False)

(g) e e = @

Inflation occurs when there is
() T o R o 3 o
increase in money and credit
(i) T T fa o™
increase in aggregate spending

(i) TG S T @ AN

increase in wages and cost
(iv) €I SBIIL0!
All of the above
(= oo AR Sferean)
(Choose the correct answer)
(h) % FYCETE @ &2
What is high powered money?

2. ot A SRR @S v e oy

L 4x4=16
rite short notes o
following : N any four of the

(@) I wre SR we@fe

Micro- and Macro-economics
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(b) #Fe GDP W YWITS GDP
Real GDP vs nominal GDP

(c) Togers I WIE R YRAPTE

Consumption function and its attributes

[d) '3 9] RN s T|WR etz

Say’s law of market and its implications

(e) @R I

Functions of money
were fira ePTRY B fia (efSehi @ oo 1%a foeve) :

Answer the following questions (within S00
words each) :

3. (o) “ERIM wLAfeT it fordr | @ AT Rl
f2ore S wdNfes wuferm Ra aam
{1 2+10=12
Define macroeconomics. Explain the

evolution of macroeconomics as a
separate discipline.

241/ Or

(b) W MM SR Bre oo I &
7 7 SRR SL@foT T S SNRmeryz
Ao 91 | 1+6+5=12
Who was regarded as the father of
modern macroeconomics? Discuss the

objectives and limitations of macro-
economics.
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4. (@) T IS TIAOS I HFHW AR A ] |
Ry AE AP2AN2 HLAGF FHAFAS [Feq
SR (AR, ST 1 | 7+4=11
Explain the circular flow of income in a
two-sector economy. In what way

injections and leakages influence the
level of economic activity? Discuss.

§2[1/Or

(b) SO S R - KAMETS Ao I
91 | o S qifoca w¥e Femd I T LM
PR SRR ? 7+4=11

Explain the value added approach to

measure GDP. Do you think that rise in

GDP leads to increase in economic <
welfare?

5. (@) TRF vXa 27 RE R TAmE Wi
AfTeTR TR F40 2+4+5=11
What is aggregate demand? Explain the

components and determinants of
aggregate demand.

541/ Or

(b) ffcmsm e o 2 R s feb
fafrcem e forn 1 Rfcny e f[fea
a2, SCEADT 9 | 2+3+6=11
Define investment. Distinguish between
gross investment and net investment.

Discuss the determinants of investment
demand.
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6. (@) 1 YR’ WH 2 ‘oqf facmes’ St

(b)

7. (a)

(b)

24P—6000/1152

NES R SF Seonm wach S %41 |
3+8=11

What do you mean by ‘full employment’?
Discuss the classical theory of output
and employment in this context.

241/ Or

QPR WE wWR R @ e
ST S5RCERT | 11

Critically discuss the Keynesian theory
of income and employment.

Re=IRT @~ SGCHT A 47 | 11

Discuss Fisher’s quantity theory of
money.

/2<1/Or

wors fraas Recy oo I i ;. 6+5=11
Explain briefly about the following :

(i) FBR TGS ©g

Keynesian theory of liquidity
preference

(i) 49 Tz =z

Credit control measures

* ok ok
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